Using the data sheet calculate the delta S values for the following reactions. In each case explain the sign
of Delta S.

NzHg (gy+H; (g - 2NH3 (g}
2Al (s} + 3Cl, (g)——-2AIC]; (5)
Mg (OH); (s} +2HCL (g) -—-—--—--—-—-MgCl; (s) + 2H,0 (I}

2CH, {g)--~-------- CoH;s (g)+ H, (g)




DATA SHEET

Question 9
Substance S° {3/mol-K}
R,Hi(g) | 2385
HalB) 130.58
NHalg) . 1925 .
Alls) 28.32
Chig) 222.96
AICL(s) 109.3
z.n_o_._rE m.u..un.
:n__a_ 186.69
MgCliis) 89.6
H,0{1} 69.91
CHy(g) 186.3
CHqlg) 229.5
Halg) 130.58
Question 10 .

Substance AH{ (kifmol) s° {3/ mol-K}) AG{ (ki/mol)
Ni{s) 0 0.5 1]
Chig) 0 22196 0

NiCh{s) -305.3 97.65 - -259.0
CaCoys, calrite} -1207.1 92.48 -1128.76
Ca0is) -635.5 39.75 -604.17
€0,g) -393.5 2136 -394.4
n.._wo_:.w -238.6 126.8 -166.23
0:lg} o Mﬂ..m.a 0
08 -285.83 £9.91 . -237.13




